Math 180 Practice Test 4
1.    Estimate 
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 using 4 rectangles and

        a. left endpoints             b. right endpoints              c. average your answers to a. and b.

2.    Evaluate the following. 

       a. 
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                                      c.  
[image: image4.wmf]3

2

0

22

x

xedx

-

ò


3.    Find the indefinite integrals. Use u-substitution when necessary.
        a. 
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        e. 
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4.    A homeowner installs a solar heating system which is expected to generate savings at the rate of 
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       per year, where t is the number of years since it was installed.

       a. Find a formula for the total savings in the first t years.

       b. If the system cost $1500, when will the owner make that money back in savings?
5.    Given 
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, find
        a. area under g(x) from x = 2 to x = 4                     
        b. average value of f(x) on [3,4]                             
        c. x-values where f(x) = g(x)                             
        d. the area between f(x) and g(x)
        e. the volume obtained by rotating the region between f(x) and g(x) around the x-axis
        f. the volume obtained by rotating the region between f(x) and g(x) around the line x = –2 
        g. the volume obtained by rotating the region between f(x) and g(x) around y = –2
6.    Use the FTC1 to find the derivative of  
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